

Topic

سید علی حسینی

$$a_1 = \varepsilon_0$$

$$a_1 + r^0 d = \gamma_1$$

①

$$\frac{1}{\varepsilon_0 + r^0 d} = \gamma_1 \rightarrow r^0 d = \varepsilon_1 \rightarrow d = V$$

$$a_n = V_n + r^n r = \gamma \cdot A$$

$$V_n = 1/V_0 \rightarrow h = \frac{1/V_0}{V} = \boxed{\frac{r_0}{V}}$$

$$1.0 \ll V_n + r^n \ll 999$$

②

$$999 \ll V_n \ll 999$$

$$1/r_1 \sim \left(\frac{1}{h} \right) \ll 1/r_1$$

$$1 \leq h \leq 1 \leq r \rightarrow \frac{1 \leq r - 1/r}{1} + 1 = \boxed{1 \leq r}$$

$$a_{n+1} + a_{n+1} r + a_{n+1} r^2 = -\gamma_{n+1} r$$

③

$$a_{n+1} = -\gamma_{n+1} r$$

$$\boxed{a_n = -\gamma_{n+1} h}$$

$$x(n+1) + \alpha + \gamma(n+1) + \alpha + x(n+1)r + \alpha = 1$$

$$\gamma_0 h + \gamma_{n+1} r = -\gamma_{n+1} r$$

$$a_{1V} = -\gamma(1V) + A_0 - \gamma \gamma$$

$$+ \rightarrow \boxed{-\gamma \gamma}$$

$$\gamma \gamma = -\gamma \rightarrow \boxed{x = -\gamma}$$

$$a_1 = -\gamma(A) + A_2 - A$$

$$\gamma \gamma - \gamma + \gamma \gamma = 1 \gamma \rightarrow \boxed{\alpha = 1}$$

$$r^{n+1} - r^n + 1 = r^n \begin{bmatrix} r & 1 \\ 1 & 0 \end{bmatrix} \begin{bmatrix} r^n \\ 1 \end{bmatrix} \quad \text{②}$$

$$r^n y - y + 1 = r^n y - r^n y + y - r^n y + 1 = 0$$

$$(y - r^n)(y + 1) \rightarrow y \begin{bmatrix} 1 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} y \\ 1 \end{bmatrix}$$

$$a_{n+1} + a_n = y - 1 + r^n y + y - r^n y = r^n, \quad r^n = r^n + 1 + 1 - r^n = 1$$

$$r^n = a \rightarrow a d = r^n a$$

↓

$$a_1 + a d + q + 1 \cdot d \rightarrow r a_1 + a = r a$$

$$r a_1 = -r a$$

$$a_n = a_1 + r^n \cdot d$$

$$a_1 = -1 r a$$

$$-1 r a + a = 0$$

$$r a + a = 0$$

$$\frac{a}{r} (a + a d) = \frac{a}{r} (a + q) \rightarrow a a_1 + 1 \cdot d = \frac{a}{r} a_1 + 1 \cdot d = \frac{a}{r} a_1 + \frac{r a}{r} d$$

$$\frac{a}{r} (a + a d) = \frac{a}{r} (a + q) \rightarrow a a_1 + 1 \cdot d = \frac{a}{r} a_1 + 1 \cdot d$$

$$\frac{1}{r} a r = a d \rightarrow a r = a d$$

$$a r = \frac{a d}{\frac{1}{r}} = 1 \frac{a d}{d}$$

$$\frac{a r}{a_1} = \frac{1 a d}{1 d} = r$$

Date

No

$$t_h - t_{h+1} = r_d = 1 \rightarrow d = h$$

$$ed = r.$$

$$\frac{(t_q - \frac{1}{2}r_d)(t_q + \frac{1}{2}r_d)}{t_v} = r \cdot \frac{1}{t_q + \frac{1}{2}r_d + t_q - \frac{1}{2}r_d} = r \cdot \frac{(t_q + 1)}{t_q + d}$$

$$\frac{r \cdot (t_q + d)}{t_q + d} = r$$

$$d = \frac{r + \sqrt{r^2 - r + 1} \sqrt{r}}{1/r} = \frac{1/r \sqrt{r}}{\sqrt{r}} \quad \textcircled{A}$$

$$a_{k-1} = r_y \quad a_k = a_{k-1} + (k-1) \quad \textcircled{B}$$

$$\rightarrow a_{k-1} = r_y (e_{k-1} - r) d = r_y$$

$$a_{h+1} = 1 \rightarrow a_{e_{h-1} - h + 1} = r_y \quad d = \frac{r_y}{e_{h-1}}$$

$$(r_{h-1} - r) \left(\frac{r_y}{e_{h-1}} \right) = r_y \rightarrow \frac{r \cdot h - r_y}{e_{h-1}} = r$$

$$h = r_y \quad q = r_y$$

● dotnote

$$a_n + a_{n+1} \epsilon = a_n^2 + a_{n+1}^2 \rightarrow a_n^2 + a_{n+1}^2 = a_n + a_{n+1}$$

$$\sqrt{n=1}$$

(1.)

$$a_n = \sqrt{a_{n-1}} \rightarrow a_n + (n-1)d = a_1 + (n-1)d = \sqrt{a_1} + \frac{n-1}{2}d = 0$$

$$a_k = 0 \rightarrow a_k = a_1 + (k-1)d = \sqrt{a_1} + \frac{k-1}{2}d = 0$$

$$-d + (k-1)d \rightarrow d(k-1) = 0$$

$$a_1 = -d \quad k-1 = 0 \rightarrow k=1$$

$$a_1 = -d \rightarrow a_1 = \sqrt{a_1}$$